(A ME:

Find as many products as you can in one minute.

6 |
x5 x 4 x5 . x6 .. x2 x 7 x 1 x 4 x5
6 9 7 5 1 2 3 6 1
x 3 x 2 x 2 x 4 x O x 6 x 6 x 6 x 3
Find as many quotients as you can in one minute. -
3+1= 42 +7= 14+7= 8+4=
36 -6= 8+1=" 452 = 49 +7 =
64 -8 = 6-+-1= 8+-8= 7T=+1=
328 = 16+8=" 204 = 16+4 =

Complete each multiplication. Use all of the
numbers in the cloud in each problem.

1. Put one number in each square so that
the product is between 250 and 300.
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2. Put one number in each square so that
the product is between 350 and 400.




* Decide which number correctly answers each question. Write the letter of the correct
choice next to each question. Then, match the letter from each problem number to the
numbered blank at the bottom to answer the riddle: What kind of coffee do cows like to

drink?

letter

" Which number has a 6 that is worth 10 496,835 164,538
times as much as the 6 in 317,648? I A

? Which number has a 3 that is worth 10 368,698 843,316
times as much as the 3 in 539,427? C R

®) " Which number has a 7 that is worth & 739,096 71,254
as much as the 7 in 726,5947 S T

4)

Which number has a 2 that is worth 10

7,890,848 2,479,056

times as much as the 2 in 725,843? N M

% Which number has a 5 that is — the 917,504 39,275
value of the 5 in 92,6577 G D

¥ Which number has a9 whose valueis 5~ 958,461 759,348
the value of the 9 in 894,7617 K L

n Which number has a 8 that is worth 10 357,689 908,751
times as much as the 8 in 34,8277 H F

®  Which number has a 4 that is 1—15 ‘the 534,819 415,907
the size of the 4 in 943,218? A U

% Which number has a 6 that is worth 10 893,716 497,618
times as much as the 6 in 409,267? O B

What kind of coffee do cows like to drink? 52




